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QUESTION 1

Given:

public class Main {
public static void main(String[] args) {
Consumer consumer = msg —» System.out::gprint; // line 1
consumer.accept (“"Hello Lambda !"):;

}

This code results in a compilation error.

Which code should be inserted on line 1 for a successful compilation?
A. Consumer consumer = msg -> { return System.out.print(msg); };

B. Consumer consumer = var arg -> {System.out.print(arg);};

C. Consumer consumer = (String args) -> System.out.print(args);

D. Consumer consumer = System.out::print;

Correct Answer: D
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1 import java.util.®;

2 1import java.io.*;

3 1import java.nio.file.*;

4 import java.util.Llist;

5 1import java.util.function.Consumer;

6

7~ public class Main {

]

9~ public static void main(String[] args) {
18 Consumer consumer = System.out::print;
11 consumer .accept("Hello Lambda !");

12 I

13 }

JDK 1.0.4 LY

CommandLine Arguments

Result
CPU Time: 0,16 sec(s), Memory: 32896 kilobyte(s)

Hello Lambda !

QUESTION 2

Given:

Integer[] intArray = {2, 1, 3, 4, 5}:
List<Integer> list =
new ArraylList<>(Arraye.asList {(intArray)):;
list.parallelStream/()

.forEach(e —>» System.out.print(e + ™ ™));

Which two are correct? (Choose two.)

A. The output will be exactly 21345
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B. The program prints 1 4 2 3, but the order is unpredictable.

C. Replacing foreach() with forEachOrdered(), the program prints 2 1 3 4 5, but the order is unpredictable.
D. Replacing forEach() with forEachOrdered(), the program prints 1 2 3 4 5.

E. Replacing forEach() with forEachOrdered(), the program prints 21 3 4 5.

Correct Answer: BD

QUESTION 3

Given this enum declaration:

1. enum Alphabet {
2. By By
3.
4.}
Examine this code:
System.out.printin(Alphabet.getFirstLetter());
What code should be written at line 3 to make this code print A?
A. final String getFirstLetter() { return A.toString(); }
B. static String getFirstLetter() { return Alphabet.values()[1].toString(); }
C. static String getFirstLetter() { return A.toString(); }

D. String getFirstLetter() { return A.toString(); }

Correct Answer: C

QUESTION 4

Given:

List listl = new ArrayList();
listl.add("A");

listl.add("B");

List list2 = List.copyOf(listl);

list2.add("C");
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List list3 = List.of(list1, list2);
System.out.printin(list3);

What is the result?

A. [[A, B],[A, B]]

B. An exception is thrown at run time.
C.[[A, B], [A, B, C]]

D. [[A, B, C], [A, B, C]]

Correct Answer: B

12 = public class Main {
13- public static void main(5tring[] args) {

14
15 List<String> listl = new Arraylist<(),;
16 listl.add("A");
17 list1. add("R");
18 List listZ = List.copydf(listl);
19 listZ.add("C");
20 List<List<String=> list3 = List.of(listl, listZ);
21 System.out.println{list3);
22 T
23
24 i
25
K104 v Interactive Stdin inputs

CommandLine Arguments

Result
CPU Time: 0.16 sec(s), Memory: 32128 kilobyte(s)

Exception in thread “main® java.lang.UnsupportedOperationException

at jova.base/java.util.ImmutableCollections.uwoe{ImmutableCollections. java:71)
at jova.base/java.util.ImmutableCollections$AbstroctImmutableCollection.add{ImmutableCollections. java:75)
at Main.main(Main. java:19)

QUESTION 5

Given:

170-816 VCE Dumps | 1Z20-816 Study Guide | 1Z0-816 Braindumps 517


https://www.geekcert.com/1z0-816.html
https://www.geekcert.com/1z0-816.html
https://www.geekcert.com/1z0-816.html

' VCE & PDF https://lwww.geekcert.com/1z0-816.html

GeekCert.com

public interface TestInterface {

default void samplingProbeProcedure () {
probeProcedure () ;
System.out.println(™Collect Sample”);
System.out.println (“Leave Asteroid”):;
System.out.println (“Dock with Main Craft”);

}

default void explosionProbeProcedure () {
probeProcedure () ;
System.out.println (“Explode”)

Examine these requirements:
Eliminate code duplication.

Keep constant the number of methods other classes may implement from this interface.

Which method can be added to meet these requirements?

A private default void probeProcedure(){
System.out.println("Launch Probe");
System.out .println("Land on Asteroid") :

}

B. static void probeProcedure() {
System.out.println({"Launch Prcbe");
System.out.println("Land on Astercoid”);

}

C. private void prcbheProcedure () {
System.out.println("Launch Probe");
System.out.println("Land on Asteroid"):;

}

D. default wvoid probeProcedure () {
System.out.printlin(”Launch Frobe™):;
System.out.println("Land on Asteroid");

A. Option A
B. Option B
C. Option C

D. Option D
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Correct Answer: B
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